
l;=g+= of]hgf tyf sfo{qmdsf] gfd /sd ¿= s}lkmot

1 o'jf :j/f]huf/ On]S6«Ll;og tflnd l;=g=kf= $ 80000

2 afnd}qL sfo{qmd ;+rfng l;=g=kf= $ 90000

3 z's|jf/] ahf/ Joj:yfkg l;=g=kf= $ 400000

4 s[lif, e]6g/L sfof{no Joj:yfkg l;=g=kf= $ 100000

5 a]df};dL t/sf/L v]lt ;DaGwL aLp ljhg vlb/ l;=g=kf= $ 40000

6 ?Dhf6f/ df=lj=df kfgL z'l4s/0f pks/0f vl/b l;=g=kf= $ 250000

7 ?Dhf6f/ u'Daf jf6/ kmfpG6]g lgdf{0f l;=g=kf= $ 400000

8 PsLs[t dlxnf ;fd'bflos ejg Joj:yfkg l;=g=kf= $ 500000

9 ckfË ;Ddfg sfo{qmd l;=g=kf= $ 90000

10 sf]njf/L rf}tf/f d'lgsf] klx/f] Joj:yfkg / 7'N9'+u] wf/f lgdf{0f l;=g=kf= $ 150000

11 ;fd'bflos ljsf; sf]if ;+:yfnfO{ cfO{;ls|d agfpg] tflnd l;=g=kf= $ 75000

12 r]tglzn :jf:Yo cfdf ;d"x sf];]nLe]6 sfo{qmd l;=g=kf= $ 50000

13 u|fdL0f ljsf;df dlxnf ;xeflutfaf6 !% lbg] j]s/L tflnd l;=g=kf= $ 75000

14 blnt ;d"xnfO{ s6fO{ l;nfO{ tflnd l;=g=kf= $ 50000

15 td'u'?Ë sfof{no kmlg{r/ Joj:yfkg l;=g=kf= $ 50000

16 o'jf v]ns"b ljsf; l;=g=kf= $ 50000

17 ;fd'bflos dlxnf pTyfg s]Gb| ;zlQms/0f tflnd l;=g=kf= $ 50000

18 s[lif ejg 6«; lgdf{0f l;=g=kf= $ 350000

19 rfFksf] ?vb]lv n;'g] x'Fb} ljB't kfj/xfp; hfg] ;8s lgdf{0f l;=g=kf= $ 400000

20 rfv'{ kf6L b]lv ef]U6]gL hf]8\g] ;8s lgdf{0f l;=g=kf= $ 200000

21 ?Dhf6f/ u'Dafb]lv ;lt3f6 hf]8\g] ;8s lgdf{0f l;=g=kf= $ 400000

22 clDasf ;]jf;bg Joj:yfkg l;=g=kf= $ 200000

23 ;8s alQ lj:tf/ l;=g=kf= $ 300000

24 vfg]kfgL 6\ofÍL lgdf{0f rfv'{ l;=g=kf= $ 400000

25 t];f]{ af6f] b]lv kbd axfb'/ u'?Ësf] 3/;Dd df]6/jf6f] :t/f]GgtL l;=g=kf= $ 150000

26 j8f sfof{nosf] tNnf] tnf tyf 3]/fjf/ dd{t l;=g=kf= $ 100000

5000000

 

         cf=j= )&%.)&^ sf] bf];|f] gu/ ;efaf6 :jLs[t of]hgf tyf sfo{qmdsf] ljlgof]lht /sd        

 l;l4r/0f gu/kflnsf j8f g+= $ -?Dhf6f/_, cf]vn9'Ëf 

hDdf 


